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Name:

Matrices EOC Questions

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Class:

Date:

_ﬁ 1. The first table shows the teams with the four best records halfway through their season. The second table
shows the full season records for the same four teams. Which team had the best record during the second

half of the season?

Record for the First half of the

Season
Team Wins Losses
Team 1 26 14
Team 2 27 13
Team 3 25 15
Team 4 24 16

Record for the Season

Team Wins Losses
Team 1 59 21
Team 2 56 24
Team 3 56 24
Team 4 52 28

a. Team2
. Team 1
2 2 0 JC= -1 -1
-5 7 9 -7 3
-1 1 2
a.
| -7 3 2
b, -1 -1 =2
7 -3 2

Find the values of the variables.

D 3. -8+t 0 | _

-5 0
8 -12 8§ -2up-2
a t=5y=3
b. t=-13,y=5

=2

sa
s 44
g a4
L 59 A%

¢c. Team3
d. Team4

,and A —B = C, what is B?

I
ok
W
N

éM (o
41 1%
M @

3% 1

a i\

2\ q

a8 &

_n 20 |7

> 9

I 29| o d

—-l —'.\
-1 0D
,-Ka‘-t:'S



Name:

D S S
4. Find —54 + 4B. 30 L[> >
6 1 -5 -1 505 '305 24 3D
A=|4 -6| B=|-3 -8 -3 3
7 7 6 8
[ 10 9 50 -9
a. 8 -2 c. -1 16
16 67 11 -68
10 9 [ 50 -9
b 8§ 2 d | 8 =2
59 —68 -11 67
Evaluate the determinant of the matrix.
4 5 6
(L 5.10 4 4 CO’(C'
2 -5 4
a. —104 b. 72 c. -136 d. 136
A 6. What is the arca of the triangle with vertices (~1,4), (-3,-2), and (—4,-2)?  plug 1" .
a 1 b. 1.5 c. 215 i 2 t0 \ratnX (%8 on
(N (MU -‘)I exnol
Does the given matrix, 4, have an inverse? Ifit does, whatis 4~'? WLLH- Wy > owk$dL
E) S R
2 7
:
7 25 7 25
a C.
5 —7} [ 5 7]
b. 72 d. does not exist
2 -7



Name:

Solve the system.

Ix+y—4z =-30
_Cﬁ 8 I3x+2y+2z =-8
S5x+5y+z=-26
a. (-30,-8,-26)

b. (4,-2,4)
C/ 9. =5 2 0} (-1
-5 9 9 7
-4 -1 -3
a.
12 -5 2]
b, -4 -1 3
[ -12 5 2]
Find the product.

10.

=5 =25 7
-8 -5(|-9 -5
6 25 18

|35 10]

43 -25
| 85 31|

|

3 3
4 7

|

CodC

(4, -2, 4)
A (4,2,-4)

O




wl s

.
ey
I I
d L]
-
"
I
1 1
o |
-
o




